@

O

Name:_

unIT QG

RN

N T e, .

Do Now: QUIZ #2

1) Write3 consecutive integers

LD

Date:
LESSON' 1

N

2) WnteBconsecutive EVEN mtegers & L’} Lﬁ

3) Write 3 consecutive ODD mtegers

4) If _,X = 1% consecutive integer {ClL)

g + ‘ = 2" consecutive integer
Xt Q = 3" consecutive integer

1
5) if _ﬁ = 1% consecutive EVEN integer {C.E.1.} '

X+ [Q = 2" consecutive EVEN integer
x -+ ‘:] = 3 consecutive EVEN integer

6 ¥ X =1

x Q = 2" consecutive ODD integer
)( i E\ = 3" consecutive ODD integer

consecutive ODD integer (C.Q.1) -
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7) Translate each phrase into a mathematical sentence. Do not solve.

. : A Pe— \;\9\
a. | Sixlessthana n’umber@& 6% X _ (-0 - %
b. [ Twice a number is 10 a X ‘ D
.| The product of a number and 7 is 35
T e, Ix= 25
d. |10 m_ggg_than a number iiﬁs,gl_.. ‘ (-) + X 5 Dw— N
a. | Thesquare of a#is 36 Y 21 s % ( |
0 ,
f The difference of a#and Sis 3 }("‘5 - 5 -
g. .12 subtracted from the product of a# 5 X l a _ , O |
and 3is 10. : |
h. |4lessthanb time§ a#is10 (_QX" A‘ = i O




Set up the fegend: Cgmﬁs
8. The larger of two numbers is 3 times the smaller. .= ﬁ% IQ!S"}‘ —) X

X= _smaller
Hk= \OX %@r

9.The Iength ofa rectangle isS more than the width

10. Find three consectitive ODD integers.

X =15+ COT.
x+Q =Aand COT
Y+ = ard C,D:E

11. The iarger of two numbers'is 23 less than twice the smaller

oy =smaller
X-85 =10rgeyr

12. The width of a rectangle is 4 feet Iess than the iength

lemg%b
X-4 = unad+h

13. The Iarger of two numbers is 8 more than the smaller.
¥ = 3maller
Y= lavgey”

14. Find three,cqnsécutiVe integers.

= s+ CX
y+l- and C&
V+Q=dd CA

O



